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lll Semester B.Gom. Examination' April/May 2021
(2013 -14 and Onwards) (Repeaters)

COMMERCE
paper - 3.6 : Quantitative Analysis for Business Decisions - ll

Time : 3 Hours Max. Marks : 100

lnstruction : Answers sttould be written fully in English or in
Kannada.

SECTION _ A
Oqtori - a

Answer any 10 sub-questions. Each sub-question carries 2 marks. (lgvl=20l

cndoaddo 10 erud-$#erl erudox,. $a wd-$d;i2 eodzido.

1 . a) lf r = .917 and N = 10 of distribution, find the probable error.

uodo idtdobe)- I = .917 d;dg N = 10 un{d erdd doqnd, doeddd.l

dodlbaouro.

b) lf b,y = 0.8 and br" = 0.6, find 'r'.

b*, = 0.8 sQ b* = 0'6 udd'r'd1dod;&aor:o'

c) ExPand (Y - 1)o = 0.
(y-1)o=0.add1a$on

d) What is negative correlation ?

drooa{d ddiouofr aodded: ?

e) What is regression ?
bozjsd aodded: ?

f) Mention any 2 uses of time series analysis.

iabo$d idtdo$ oJndrrsaddo 2 erudoSoeddddl8en

g) Distinguish between interpolation and extrapolation.

"aoe^id-ajaejedo" abQ;a"n6dOdedinqdrld{arddd1.9*,rr.

h) What is random samPling ?
oa^oddf'dndo doddedJ ?

P.T.O.
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i) Define time series.
ddro$d ddrd o$ *rS, dQ udor:o.

j) What is a null event ?
'&d, dorlB' oodded: ?

k) Write any 2 assumptions of interpolation.

"oe^sddBeiedind 
CradaiEddn 2 dsdrlddludor:0. :,i

l) Mention any 2 uses of correlation.
#ouodd odJbdcDdra 2 Erudoin edrfddl*ee,r,.

SECTION _ B
Aqrdrl- D

Answer any 4 of the following. Each question carries I marks. (4x8=32)
odnd;cndd" 4 dd/eri w$oxr. $doloodd* I eoddst.

2. Extrapolate the business done in 2008 from the following data :

Year: 2003 2044 2005 2006 2007

Business done (Rs. '000) : 150 2g5 365 525 780

ddnd adddqod 2008d qmd dfoe,tddlzubrlmdr :

ddr: 2003 2044 2005 2006 20A7

Eraomd (do. '000) : 150 235 365 525 780

3. Calculate co-efficient of correlation from the following,data :

x
Y

ddnd

x
Y

48 35 17 23 47

45 2A 40 25" 45

.rddrleod i#0ruot' rbeao odddq dod>baos:o :

48 35 17 23 47

.45 20 40 25 45
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4. Calculate the trend values by the method of least-squares from the data given below:
Year: 2001 20A2 2003 20A4 2005 2006 Z0AT

Production ('000 tonns) : 12 10 14 1'l 19 1b 16
d-Jnd adddeod O eq{d eo$cf dde o$O_ $ oco' dfa c.rrddl dod:&a ouo :

ddr: zA01 20A2 2003 2A04 2005 2006 2007
waodd ('000 o3sf?r$b) : 12 10 14 11 13 15 16

5. A man wants to check the inventory records against the physical inventories by
a sample survey, permitted deviation is + 5 and standard deviation is 19.7. Find
the sample size if the confidence level is g0% (Value of confidence co-efficient
is  1.64).
iddrild cmald tl{ ry{,eddddrdd dd>d doqdur dndo &oedd dndq: ea$abd
esdJdr9 + 5, Dor{ue$d:19.7 ubdr doard d:qsoz e:dd dndooo na$dd1
dod:&aos:o. (doatdod: ddrbead 907o = 1.64).

6. Calculate the two regression equations from the following data :
X=30,Y=5,or=10,on=7
r=0.8
dsjnd Dddrleod odd: ddrbeaddddldod:toao$o :
X = 30, V = 5, 6" = 10, o'u = 7
r=0.8

SECTION - C
&6r0fi - ,l

Answer any 3 of the following. Each question carries 16 mar,ks. (3x16=48)
chdoadd" 3 d$eri w$oa. {{olood{ 16 eroddq;b.

7 . Estimate the number of persons whose incomes are between Rs. 400 and Rs. 500
per day from the following data. Use Newton's method :

lncome(Rs.) :  0-200 200-400 400-600 600-800 800-1000
No' of Persons na 145 2oo 250 1so( in '000) :

dsJnd Ddddqrl ererceJ: dra. 400 d:dl dro. s00 dd:d .qdrd dddd dosJrorr{
dodtb a oclo, d", u:4 dde od:d1 ud,t.

errroolr (d.o.) : 0 - 200 200 - 400 400 - 600 600 - 800 800 - 1000
200 250 150dC?id noe5, ('000) : 120 145
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8. Cafculate trend
below :

|ilffiilfililtlilftililIilililil
values by the method of reast-squares from the data given

2002 2003 2AO4 2005 2006 2oo7

92 83 94 99 92 rc4

' year: 2000 2001

Sales (Rs. '000) : g0 90
Plot the values on a graph.
ddnd adddsod dn{ddr apaddo_*oeb ddd ${go$qd"oo&o aarlo deaa{o$o_
6oa" atDerrddldo*:aaouo. 

e

20a2 2003 2AA4 2005 2006 2QA7

92 83 94 99 92 104

9. calculate rank correration from the forfowing data :
X; 97.9 99.2 98.8 9B.g 98.4 96.7 97.1
Y: Tg.2 BS.B 79.9 75.8 77.2 BT.2 8g.B

Sdrr dn q$d addds o d $ e ed dddo u ot'dd1 dodr&a os:o :
X: 97.8 99.2 98.8 98.3 98.4 96.7 g7.1
Y : 79.2 BS.B 78.9 7S.g TT.2 AT.2 Bg.B

10. Find the rines of regression and estimate the y, when X is 4g from thefollowing :

X: SZ 6g 45 96 72 65 47 25
Y: OZ Sg 51 ZS Tg 49 60 gg

EsJri droe*&d adddpod aoajsd deeJdddldod:&aos:o. X = 49 "aqd, y adrlaoct>
sooed&.

X: 52 69 45 g6 TZ 65 47 25
Y: Gz Sg 51 25 Tg 49 60 3g

ddr: 2OO0 2001

dnoout (do. '000) : g0 90


